INSTRUMENTE

Pelvic Instruments
and Implants




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN ‘

INSTRUMENTE

¥ L
LI
Bttt

a0l ' *y
"’ ‘I'l’l’l nax .t‘l'i.g..
8 g

%

Ry K A A

20,0000, s Satla %0 0t OO U

: ~‘:.~.,-:;~‘:-.:~'::-‘::::-':-i':-::-'::::"'::-':-:-':%:-'.:I:?:-':-:~:-:f:-:i:-":':':-:2-:-::-.... |
"::::".;i,’l: :'.'-: . ",‘i:l:'.:u l:'."']".l.l‘I.l.l'll::':‘:"t.:‘:i.:l':i‘.I
,':,’:'..: :.:.‘:, -‘:..c. '-‘l',..-. .:'.lll‘i'l':':‘:.:*:’i.l.l.l‘g:l:.I.‘I..:*;:‘!

. ::',:- o -.:'l T l’l.. . I.I'I'l.l. AL ‘:"n.,.‘. o
)

sy 20 Be,
A,

::::::::‘E:::':s-‘h- - .?5':‘:} . ";:"%‘-,":é!':‘::-,l,:.'-':..' l.r"-.!:';:l.: ::l':':..llt.l'l.l"i’ill. .u.u'.',:.:... '..".‘.:‘.
Sy ey e T e -, R "l,:-::."::.::::::::::;‘:’:: ‘.,:';:5::::l,:,:.;a:n:u:l:n:u:.:.:,:.:.:.::.:'::.:._::'::
RO

"y
Y 7- - = . . - ] . it 2 .l. .'.-' ._::&".l
I‘fi-‘. - :.: : -n: n‘.{ -:. e '.-‘ . . iz iy ' E 2 "'
-‘-‘.ﬂ‘:".-E:: rl.:.:::.::' ::'- AL ':.:_’ .“ “e"."'{':.:::'l’ | %E% ’

:‘I.l":l:" .!'l.l'l’.i:n'a'.' l‘.'u"ltt'.n"|t

- - -' .-:‘ e Y .9 N .' '.l'l 2 'I. ":"
:E::::;:E;:;.'.’f:-:-:';_:-::_ ':ﬂ':%%{ﬁiﬁ_ih?:ﬁ- S ..-_:.:':::::::.:.5::5;-:5:::::::::5::.::::.:.-.::.:::.-:.:.-
‘.n:.:.-_.:." -:u:l- :-. :-_-'-:l.l e & '-, -, o e T - = » L 5 o o o l:l.l."":l".':‘
S
:::::::.:::::::::5:5:5:5:5:5:5:::-:::'§.::% .::-f.'a'_._ ::;::.'.:- ":, "’u A ‘:':jz ’ e l'll.I'l' 'l:l:l'l :i:;'.nl:izy:.i.:.::tzi::::ll
e e ‘-b':::v'-.::f'-:'_-f'ﬂ.'*. R R
R e AL, Aty e e e L e, e
:::E:E:E:E:E::::::::_-.'::;.':::.::_'.':E:E::::EE:_::'.::::::::'_",';::;E:-:c:‘:::"-._::f:.:‘.:::::? -!3' e ,::%':::::.:.:::::::E:.‘ -.-:::a::s::-;::-:::
e o R
R e A e R e a e r _fll.h;g'.!:"_ R



PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN .

INSTRUMENTE

Palvic Basic Set |
Beckenrepositionsinstrumentarium |

15-1870 Bottom non-perforated 580x280x100mm 1
15-1850 Lid perforated 580x280mm silver 1
15-3012 Wire Basket Stainless Steel 540x255x50mm 1
]
9-021 Drill Bit AO Shaft @ 3.2mm x 195/170mm 2
9-027 Drill Bit AO Shaft @ 4.5mm x 195/170mm 2
9-074 Tap Thread Pitch @ 3.5mm dia 1.25 AO 1
9-078 Tap AO Shaft long Thread @ 4.5mm 1
9-142 Hexagonal Screwdriver 2.5mm 1
9-144 Hexagonal Screwdriver 1
9-114 Depth Gauge for Large Screws 1
17-1400 Bending Pliers for 2.7mm/3.5mm Plates 1
17-1424 Bending Templates 3.5mm curved 1
17-1426 Bending Templates 3.5mm straight 1
17-1404 Reposition Forceps 1

Bending Pliers for 2.7mm/3.5mm Plates

Biegezange fiir 2.7mm/3.5mm Platten

17-1400 = 265mm 1

Bending Iron for 3.5mm/4.5mm Plates
Biegeeisen fiir 3.5mm/4.5mm Platten

17-1402 = 195mm 1

Bending Templates
Biegeschablone

17-1420 4.5mm curved 1
17-1422 4.5mm straight 1
17-1424 3.5mm curved 1
17-1426 3.5mm straight 1

Osteotomy Chisel
Osteotomie Meissel




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN ‘

INSTRUMENTE

Palvic Basic Set Il
Beckenrepositionsinstrumentarium |l

15-1870 Bottom non-perforated 580x280x100mm 1
15-1850 Lid perforated 580x280mm silver 1
15-3014 Wire Basket Stainless Steel 540x255x70mm 1
]

15-3266-2-1 Standard Silicone Device 4
9-090 T-Handle 1
11-4604 Sharp Bone Hook 230mm 1
9-676 Retractor widetip 24.0mm 1
9-521 Pelvic Reposition Forceps 1
9-522 Farabeuf-Lambotte Forceps 260mm 1
9-604 Reduction Forceps 200mm 1
17-1550 Pelvic Reposition Forceps 190mm 1
17-1554 Pelvic Reposition Forceps 230mm 1
17-1552 Pelvic Reposition Forceps 250mm 1
17-1556 Pelvic Reposition Forceps 400mm 1
17-1558 Pelvic Reposition Forceps 400mm 1
17-1600 Straight Ball Spike 1
8-1516 Schanz Screw 6.0x200mm 4

T-Handle (9-089) with Universal three-Jaw Chuck (9-091) and Key (9-0910) com.
T-Griff (9-089) mit Universalfutter (9-091) und Schliissel (9-0910) komplett

9-090 = 130mm 1

Sharp Bone Hook 230mm
Einzinkhaken mit Quergriff 230mm

11-4604 - 230mm 1

Retractor widetip 24.0mm
Knochenhebel breite Spitze 24.0mm




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN @

INSTRUMENTE

R R
A :=:=::.=:=. 0

.I.l" ﬁ




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN @

INSTRUMENTE




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN

INSTRUMENTE

Palvic Basic Implant Set
Becken-Repositionsimplantatesatz

T111 Aluminium Case 1
T112 Tray 1
T 402 Lower Tray 1

]
3-600 Narrow DCP Plate 2 Holes 39mm 2
17-1100 Reconstruction Plate 4.5/45mm 3 Holes 2
17-1102 Reconstruction Plate 4.5/61mm 4 Holes 2
17-1122 Reconstruction Plate 4.5/221mm 14 Holes 1
4-270 Reconstruction Plate 3.5mm 5 Holes 2
4-271 Reconstruction Plate 3.5mm 6 Holes 2
4-272 Reconstruction Plate 3.5mm 7 Holes 2
4-273 Reconstruction Plate 3.5mm 8 Holes 2
4-274 Reconstruction Plate 3.5mm 9 Holes 2
4-275 Reconstruction Plate 3.5mm 10 Holes 1
4-277 Reconstruction Plate 3.5mm 12 Holes 1
4-279 Reconstruction Plate 3.5mm 14 Holes 1
4-281 Reconstruction Plate 3.5mm 16 Holes 1
4-282 Reconstruction Plate 3.5mm 18 Holes 1
17-1140 Reconstruction Plate 3.5/70mm 6 Holes 2
17-1142 Reconstruction Plate 3.5/94mm 8 Holes 2
17-1144 Reconstruction Plate 3.5/118mm 10 Holes 1
17-1146 Reconstruction Plate 3.5/142mm 12 Holes 1
17-1148 Reconstruction Plate 3.5/166mm 14 Holes 1
17-1150 Reconstruction Plate 3.5/190mm 16 Holes 1
3-1250 Cortical Screw 4.5 x 70mm 3
3-1252 Cortical Screw 4.5 x 75mm 3
3-1254 Cortical Screw 4.5 x 80mm 3
3-1256 Cortical Screw 4.5 x 85mm 3
3-1258 Cortical Screw 4.5 x 90mm 3
3-1260 Cortical Screw 4.5 x 95mm 3
3-1262 Cortical Screw 4.5 x 100mm 3
3-1264 Cortical Screw 4.5 x 105mm 3
3-1266 Cortical Screw 4.5 x 110mm 3
4-1034 Cortical Screw 3.5 x 55mm 3
4-1036 Cortical Screw 3.5 x 60mm 3
4-1038 Cortical Screw 3.5 x 65mm 3
4-1040 Cortical Screw 3.5 x 70mm 3
4-1042 Cortical Screw 3.5 x 75mm 3
4-1044 Cortical Screw 3.5 x 80mm 3
3-415 Spongiosa Screw 6.5 x 115mm 3
3-416 Spongiosa Screw 6.5 x 120mm 3
3-490 Spongiosa Screw 6.5 x 50mm full Thread 3
3-492 Spongiosa Screw 6.5 x 55mm full Thread 3
3-494 Spongiosa Screw 6.5 x 60mm full Thread 3




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN e

INSTRUMENTE

Profil = Profil 12.0 x 2.8mm
Distance between Holes * Abstand zwischen den Léchern 16.0mm

Profil « Profil 12.0 x 2.8mm

Distance between Holes * Abstand zwischen den Lochern 16.0mm

. ":.l.i'i

l" " .:.l‘l '.
' I:I,l" ':::'::::l'i':':':'l:fl':::':l.l ¥
R

PR
| l'l'l.'..::: '..:':': LW |
A



PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN e

INSTRUMENTE

Profil < Profil 12.0 x 2.8mm
Distance between Holes « Abstand zwischen den Lochern 16.0mm

Profil « Profil 12.0 x 2.8mm

Distance between Holes « Abstand zwischen den Lochern 16.0mm

P,

[} N et S
S

pernn et -'%1'
QR SRR
K et .:':.tl:‘:.!‘l" o .1:1

K -“'.:::.;q.?l;.-'.'.-:'
ll:':i:;. '.
Tan



PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN e

INSTRUMENTE

Profil = Profil 10.0 x 2.8mm
Distance between Holes * Abstand zwischen den Léchern 12.0mm
Curving Radius * Krimmungsradius 100.0mm

Profil « Profil 10.0 x 2.8mm
Distance between Holes « Abstand zwischen den Léchern 12.0mm
Curving Radius * Krimmungsradius 100.0mm

'i'i"i"'rrr.i i;; . ]
At ‘:::.:::::5::.-::::5:.:.:,::::.:::

".'l.l.it‘.l. I.l".:.:. '..’l:!:l':':'::::':l:.‘
'... l':.l' ' .::!:l:::::. l‘l:l:g:.:‘n:::::j‘

5 W e Il'|'l..'ll.
.:..a'-:- Y Taetytiet
" :.g::. '::.l n.uﬁ:.n ._u'u'::ul.:.:.a::.:'j,

" Tu " -"‘:' g
'-'5'-:1':-:-.;:
-:': n :-:’[-, o .




PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN ‘

INSTRUMENTE

Screw Diameter « Schraubendurchmesser
Core Diameter « Kerndurchmesser 3.00mm
Head Diameter  Kopfdurchmesser 8.00mm

self-cutting Screws, tapping not needed

9,70, 800" 0.3 ;;;'unu" g e g e e L oy - 777 : -,-“-,."...
R S S
L L R A SR
F::'.'n:'-'.'c:l:‘ ‘.'.'n'l':'t'u 'l'n'.'."':i'::.‘ ‘a}:.‘llu' 'a‘:“:.?‘..'u"l .‘.:i&“:-“ ot '.:,.':“;‘-‘_‘::‘-::?-:J:-:-::ﬂ:-:-::-:'-:'
e
s lute ol n n s 9B AN, s ,.'l'l"‘ﬁ:‘:' it Rt ““ 't"f‘:":ﬁ‘: = ':'f‘l:-‘:‘:‘:‘- R e S
;-:-::i::E-é;::-:“.::-‘.‘;::::g;:;‘: e SR :i_':' S _.?-:‘-;___‘::'::‘;-.:-_:5.:-;:::'-:.‘-::-_:n_:-_:-_:;::':;:::::ﬁ:-_-:;::'-_‘:;:;
; .:':..l" A '....l Sty aae’s Pt iy " ‘n'n:-‘ .u:.: 2 -.:_-‘ub‘l.:.':.-,.‘:.'_'-'_n'p:-:n::.:-:-:-_:.:-
R 8 oy e e 'E::- e e o s A
e R % 'f.'-"-:- R e
e 50 et e n .'.k‘l' .I.' [ v RN !‘:"-'- N e n":‘.‘ A e
e ‘,'-E-:_;::::::::::.' '._: e _::.-_:' e -:.::_:’-:l'é:::_,‘%.ﬁ;'.::-_:’-"-..-:T.:'-'..-:.-_‘.;:E:E:'-:::::1:'-:'::2:3:7;_:;::::'.'-:'-':::-:
K et o, Ko
pa '.'.' . I‘l L] | ) J:;l R gt l‘l. ' . “l:l N il g L e ] I.-.‘.‘..'-'-'-

l.:‘ 50 ey . R gl l‘i':‘n'. N ‘.-.:“.If‘l.- S m o e ll‘-_l-:_-.--_-:-.I_-...'.‘l-.-.-
:_n: -'::::E::::':._k._ _.I:S:gi?.:!:!. o '.J.%‘:‘:z:'-: ‘:{.‘:':':l: - :i:-:.-' -'-,'-,"-‘:':ﬂ':‘li:-: -:-:-it:-'-‘:‘:‘:‘-":“':‘:':':':'u’-'-:-:l:-:l':



PELVIC INSTRUMENTS AND IMPLANTS - INSTRUMENTE UND IMPLANTATE FURS BECKEN ‘

INSTRUMENTE

Screw Diameter « Schraubendurchmesser
Shaft Diameter * Schaftdurchmesser 4.50mm
Head Diameter * Kopfdurchmesser 8.00mm

¥

self-cutting Screws, tapping not needed

.-"-"n:' :.-..-. 3 "'-: - ; ':4‘5- - 275 “-::p‘ w0y l..l 55 0 25 w0 N e ll'::: s e .':;ﬂ .‘ ".".u"
S
oy .'5"::':.::::.:.:.::: I.. :':.l.n::.. .i a0 oy : -

et _:i.‘.i.:.-_.-..:.:._' -.:. _::.. o A e T ooy .l':.lll.l. L. :.l:q:.l.. e
EE.::-:-:.'E:':f-;-.5:::&?::5:?:;5?%&{&&?% . "y ‘?.:.. -'l:.:,:::.::::;:::!.l:::i::::::.:::::::f:::: .I:l:!::: ::::.%-:

gl e e e e, e ":" e W ¥ %] A e gt l'u'n': X
L I e :f-;-ﬁ:f:;'.::."-a:-:;::::.-:::E,:::::.;.;:;:-:.;.-:.;
T e e o el -:55' o S
::':'::;::5;;55:;:;:;5;:_-:;:;:;:_-':;:;:;:;?::::;.-:;:.:::_-::::;.‘3:_;:;_-‘,'5:';.-.__.;5'_.::.%_ : '::E::: ',5 .-:_.-:E:::;.;.;:::;.:E.:E:;.;
.ln.-:.:...:.-::::::_::::::::::-:::::::'.:.:-:-'-:._-:_.:.:.: '.:.:':'. .. ) - . o) l. ‘l E !.l l.i,ll:". " :. I:l:
e e ":.'i:"'& S ".:::":":-':':'"""':::"-" el
L e ::5::':".:.‘:52:- e
R e e A e R e e e r B .'1-.,:3'.51 R



N
KE
C
BE
RS

FU

E

AT

NT.

A

PL

M

D

N

U

TE

EN

M

RU

ST

IN

S .

NT

A

PL

M

D

N

A

TS

EN

M

RU

ST

IN

IC

LV

PE

E
=
N

Ef
Ao
=
5

IN

"ag‘:::a
o s -ﬁ'?:a‘:‘:::é:
o -':"--
%-E%"

- - - ‘Q: =
S o

:-:f‘:‘t' "’}

e -,-"" .5:

i -

-

ol e - -

e o o =

\-‘:‘: ‘:.p.

e:'\“'f-ﬁ s

o o

‘gt U“h* .'ﬁ‘l“

x

u"‘f:::‘::;}:: ‘:‘.:‘-:

3 ‘g::ﬁﬁ.:::::g::“

3 X W

‘:‘:::::‘f:;‘:::::} :"u::.:“. .
I.“’ Ly “ II“‘

| .- |

: ..;-::-.21:::1:::1::::’:;‘-

"l ..Il‘.‘l-‘:...:‘..':'.

l'. "F' "I. |. '.'.. »
" ':‘ 'l. ':"l.::"|.:" |:"

....:"--'-1:"-:'::"-::"-"

!-s::""::',"":::"‘::" :
mnu,::""'n:" e

snnnu“ "lu. "lt

, nuuu.,.""il.“"l

mliunuu.::“ll. »

lnluuu..“”:tu

lli’lill'.lu...

ncﬂuu v

ntulnn

:::::”

oy

i
s
S
&l
S
“‘na ‘ﬁ.
-“{-_.\ég-_{"' =
o S
L ""& ) x!
.:-;-‘-"5:1':5{::“:‘:5‘3
|“-|' ; o
‘.‘::.:::l:’
L]

S
.-.E:::E:E:::‘:'
e s W .
i

.llil.‘
inu

e
"“::EEE
:=:='::E:‘-E==_E';EEE:::::
o -E’E"EEE=====‘-‘EEEEE
-‘:::.:.- ‘:‘::::':-::::::: I:I:I'il:i-
.-‘:%:::‘f:::-‘:_?:‘;?:'i:::::::i:.::::::::.::
. .:-..--a;:: -:---:-:::::::::::::::"
o 2 .-‘-E:"':-.:‘-“::‘:'-:?::':E:::::::::::-'
- s |‘ .:-:-}-::‘:::-?-.I-ilII.HIU-
o _.1'-:"":-:‘-:’:.:' .:':E:::::::::::i:::"
S : .:‘.-'.'-:‘-E:“::::::::::“
: =-"*‘-f‘".;'- .-.:f;:?E::::::::::::"
,“‘. “'-‘ ! tuun-.-. .----i--
3 ‘-:'l'-":::f':f-"“..‘:::‘-:‘-.':,."-‘;::::::-
e ::*-.»-"-'-c:::“:: S
3 5:'-5.-?-;_::-:3:::1'::::::::";--
e - :.‘.b'::::::'
S A% ..':.‘:: .:E':-:'T-::‘.‘
) 7 » ‘.If-‘ s ::.“:."l::“
l:‘ a "“::u-:. . " : ::-
':\"'.}:‘ . ' '“;.“‘ "‘"::--:J:
n B ":' . N -:-.::;.
‘:::.:.:::l.‘::.. : . “-‘::.:::‘:::::53::;:“
. ot 5 o . ;
-:.-.-::-:'f-‘-"“ | !-ﬂ-f--fa-
1.'::'.““|:l - . a;:.‘::::- L
==.,:-: G
A il‘::'l... ._::,‘. o o a =
(N ney "'i '5-. N
4«. e
'-:'..'lll:...‘l'::".li::l .l."% %A;‘:"
-'"::::::E:::E::{":::E:E:E':":%" s
":::::u.“':l:'Il.l. L L) o .
l..,"i‘,-:""#-:-??-’%_
:::::::*:-5 :.:.::'-:e-;;_::"'él
:-unn.,:' :..' :. ."5
il'l:::::’-::: 1’ .‘
I.: o e ."::l.} ..".k.—
-:'-::"-{,-::"
*---:::'v- 5
I'...‘ ll".
..I' .n



INSTRUMENTE

TREU-Instrumente GmbH

take-off Gewerbepark 130-132

78579 Neuhausen ob Eck

Germany

Phone +49 (0) 74 67/947 673 0
Fax +49(0) 7467/947 673 50

www.treu.com

info@treu.com

L

A
.EIE::-‘:}.;:%‘.'!

()
’.'-...ﬁ-lll'l-l - an

L
L)
e
L}
e
.!
2

”
‘; ]
S
s
"
o

E
!".

t:...
)
[ =]
u_'l.li [
.
.;ualt‘n’ll.

e AN RN [ d
.-'r.._-.-.:‘n_u.d % o0 =

.
(|
] -
|
o
'].l'.,l d
"
(W

et
e
:;::.':":'

)
- .::
e
e

>
iy
ly
’l'
) 'l’ ;
)
[ ) -'
o l.l
.'.-:':':.'."'..:' ()
a.n.-'n'_ﬂ_'.'. Cn

e v N
o

Ze

S,
o
o
;
s
-
o
'I
»

o e L

)
]
) l:l
'.'
- ..

N L L

v
"

o
-.l‘.

i
S
et
.

-,.
'.
‘.
..
L]
‘-
'I
-I
"



